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= 920,234
s 2,119,854
Al 1,153,384
T Hl 893,690
g =48 & o d 1,909,087 1,041,004 868,083
= 67,500
s 632,327
Al 630,329
T Hl 578,931
Ao 1,547,387 897,404 649,983
s 563,327
Al 607,329
-l 376,731
SS2Z2AMY =& 544,888 544,888 0
Al 333,333
Tl 211,555
401 AIEHI L 20 544,888 544,888 0
Al 333,333
i 211,555
01 A& Bl 544,888 544,888 0
o322 444,888,000 444,888
AlHI 333,333
T Hl 111,555
OAste 2322 100,000, 000& 100,000
NESSH LXel A 646,654 317,826 328,828
s 323,327
Al 193,996
1 Hl 129,331
401 AIEHI L 2 CHYI 646,654 317,826 328,828
s 323,327
Al 193,996
I 129,331
01 A& HI 646,654 317,826 328,828
OXdgdEsH &XAel 646,654,000 646,654
s 323,327
AlHI 193,996
T Hl 129,331
2l XNJdH 29 15,685 14,530 1,155
201 Let24d] 6,850 6,850 0
01 At 22l 5,650 5,650 0
OLTXNJHE 2EES 3,850
S8 U 200,000& =54 1,000
T2l EU 200,000& *3H 600
CMNRES(EAMSEX ) 500,000& 500
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
CAUREN =X S 50,000& x12& 600
R AE M 50& +3,0000H 150
Ul XNHHH 22 M (22, &8
g) 1,000,000& 1,000
Ot NAHEH I Xt 50,000 «12& 600
OXotite €lellt=sH 29 1,200
222 2 088 ME 1,200,000& 1,200
02 =224l 1,200 1,200 0
O AHIA AHE 100,000& =122 1,200
203 ¥ S =&l 540 540 0
03 AR E=Z A= TY| 540 540 0
Ogielgdst gR=2 540,000& 540
301 LEHZ 8,295 7,140 1,155
0B A =RRAB LS 8,295 7,140 1,155
O=JIAAGH T g2 N 8,295
== 6,024
-2sd 441,600& x 18 18 442
-aSY 488,200& x 18«78 3,418
-8 540,900 x 18 x4 & 2,164
S Al 6,000 12 #2220 <123 1,584
w =l 2,600 «1H =222 <123 687
HEsds 24 15,000 15,000 0
201 Yer2 | 15,000 15,000 0
03 A2 ZHl 15,000 15,000 0
omnses 249 15,000, 000& 15,000
A DY &4 320,000 0 320,000
s 240,000
Al 80,000
307 21201 A 320,000 0 320,000
as 240,000
AlHI 80,000
02 QIAHFAAHFEX 320,000 0 320,000
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320,000, 000& 320,000
s 240,000
Al 80,000
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201 L4l 3,300 3,300 0
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3,300,000& 3,300
202 o4dl 960 960 0
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s 69,000
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s 69,000
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307 21201 A 34,500 60,600 226,100
= 13,500
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OltSMHd ZEXJAL 24 34,500,000& 34,500
= 13,500
T Hl 21,000
NE=cy ARl A (22502 LXitel & 121,200 0 121,200
E Arg)
= 54,000
I 67,200
307 21201 A 121,200 0 121,200
= 54,000
I 67,200
02 YAFAAFEX 121,200 0 121,200
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121,200,000& 121,200
= 54,000
I 67,200
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207 Ao &y 22,000 0 22,000
01 2284 22,000 0 22,000
OHEREY J|=2He 28 P8
22,000,000& 22,000
AtGh @ HWER3 29 5,000 0 5,000
201 Let24dy] 3,000 0 3,000
01 At 22/l 3,000 0 3,000
O3ldxtzg M s 1,000, 000& 1,000
OgiAal & #5213 2,000,000& 2,000
301 LerEAF 2,000 0 2,000
09 AL HIXI& 3 2,000 0 2,000
OUERZa =% 20,000& x25H x4 3| 2,000
Y XJ T2y 2435t 2,000 0 2,000
201 Let249H] 2,000 0 2,000
03 A2 S HI 2,000 0 2,000
O&Y &&d 2 8u= 2,000,000& 2,000
dY EJEANE Mzl 5,000 0 5,000
201 L2l 5,000 0 5,000
03 A2 Z Hl 5,000 0 5,000
OF3Y" EI2MNE Iz 5,000,000& 5,000
1000 HALAMH 2R (FIHEEXLH) 50,000 50,000 0
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02 QAFHAANGEEE 50,000 50,000 0
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OFIIEY S2AE XN& 29,000,000& 29,000
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= 852,734
s 1,487,527
AlHI 523,055
- Hl 227,645
AMBIAEIA - TtetE A K& 3,090,961 2,646,578 444,383
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s 218,000
AlHI 46,714
T Hl 46,714

307 glz2+ol & 311,428 200,000 111,428
s 218,000
AlHI 46,714
T Hl 46,714

05 RIZIRI & 3 311,428 200,000 111,428
OJIMZEE 2 MEIAAY XI& 311,428,000 311,428
s 218,000
Al 46,714
-l 46,714
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s 1,266,517
Al 361,862
I 180,931
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Al 361,862
I 180,931
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05 RIZt2IE = 188,458 188,794 A 336




2N LXel =St

Ha: §ASS NYlle £4

L= o

Chels AP MEIA - TS A X& (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
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Al 22,230

22sEU=+SNAE S NA (YIS EE2) 409,616 326,513 83,103
= 361,845
AlHI 47,771

307 21201 A 409,616 326,513 83,103
= 361,845
AlHI 47,771

05 212t E = 409,616 326,513 83,103
OsLIssH2 409,616,000 409,616
2 361,845
AlHI 47,771

2EsdA=SHYEFS N (UHLIISEE) 56,496 63,544 AT,048
= 51,028
Al 5,468

307 120l & 56,496 63,544 A7.,048
2 51,028
Al 5,468

05 BIZERIE 3 56,496 63,544 AT,048
ougIs=ss 56,496,000 56,496
= 51,028
Al 5,468

2EsHJA=sSsMHAESSNA(BEHI LIS SE) 193,549 174,152 19,397
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AlHI 24,091
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= 169,458
AlHI 24,091

05 RIZtE = 193,549 174,152 19,397
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= 169,458
Al 24,091

2EsJ=+SMHAESSNA(BENSAH ) 113,529 0 113,529
= 101,182
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= 101,182
Al 12,347
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= 101,182
AlHI 12,347
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2 2,993
AlBI 1,282
05 DIt e 2 4,275 4,275 0
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4,275,000& 4,275
2 2,993
Al 1,282
dF2I3H(LReIsAL) 87,114 40,603 46,511
el 2| 35,759 31,807 3,952
el 2| 35,759 31,807 3,952
101 124 4] 35,759 31,807 3,952
03 RINAALZ22RE > 35,759 31,807 3,952
OFLaGA 35,759
=g 2,198,330 x1F ~12& 26,380
d0= 2,198,330 *x100% 1 2,199
Scl=dH| 4,198
- A s A 130,000& = 12& 1,560
- HEFOHI 2,198,330& *120% 2,638
s JlEteE 2,982
-tEsE 120,000 128 1,440
-OARESRIE 12,8483 +8A1 2hx15€ 1,542
Jl=3Hl 51,355 8,796 42,559
=3 51,355 8,796 42,559
201 LEt2E | 8,035 6,696 1,339
01 AtR 2t 2l | 8,035 6,696 1,339
ORN=2E+SHl 3,888,000& 3,888
OJlzge=d =&l 4,147,000% 4,147
202 o4l 40,320 0 40,320
01 = LHO I 40,320 0 40,320
OJl=gd==d0itl 40,320,000 40,320
203 R =&Y 3,000 2,100 900
04 RNSIYRETY 3,000 2,100 900
ORNSIYRETY| 3,000,0008! 3,000




